logarithm. . go o oDaten U=(\-550)/ logarithm. -, g0, of o Ur=(A-550)/!
log . =(log otlog o)/2 log o=—0,35u)-u ] =(log otlog o)/2 log o=-0,35u\—u ]

log - gi=log - . +0,08 log 0=-0,35l-u ]2 log - gi=log - . +0,08 log 0=-0,35U\-u ]2
109[" g0 © '+ 0 o Adaptation: A = log[ go, ~ v o/ .. o ] Adaptation: A =
G 0 o maximum maximum
4 log(" m)=-0,08 109(=/:-m)==0,08
m=0,81 m=0,81
Schwelle Schwelle
1T t:=0,00, $=0,00 T2=0,00, £=0,00
N -1 1 3 Uy,
7(;0 A/nm

EG370-1N

logarithm. ., Cgo, o, Mo-Daten u>\:()\-550)/g, go
log® =(log ot+logVig)/2 log o=-0,35l\-u ] =(log o+log\)/2 log o=
log©go=log*-. +0,08 logVo=-0,35y~Us:.]? go=log-. +0,08 logVlp=—

109[“go &+ o Mal Adaptation: A = o =

o 0 maximum
1 log(

Schwelle
T=0,00, £=0,00

Schwelle
t,=0,00, $=0,00

14

-2 4

EG370-3N EG370-4N

o-Daten uy=(A- 550)/5 logarithm. L, Lgo, Mo/l oL U= (A- 550)/5
otlog o)/2 logVig=—0,35[u,~ 2 logL . =(logVigtlog o)/2 logVo=—0,35[u)-u 12
+0,08 log =-0, 35pA—u 12 logL go=logL . +0,08 log 0=-0,350,-u ]2
L..s Mo, ol Adaptation: A, =570 L., Mo/l , oL ] Adaptation: A, =570
570
g o ,:= o ::~ 0 maximum maximum
| g2 Liv ¥ logll. m)=-0,08 1 Iog(L m=-0,08
- 3, L.nm081 i Lgo L m=0,81
5 »  Schwelle o o Schwelle
= "‘ \‘ta_-o,oo, 20,00 T=0.00, £:=0,00
& "
L " 3
LJ
213 &4 -1 u,
400 500

EG370-5N EG370-6N
logarithm. . go o oDaten u)\:()\_55o)/g
log . =(log otlog o)/2 log =-0,35u\—u ]
log go=log . +0,08 log o=—0,350y-u ]2
Lofe] IRETS R AL Adaptation: A =

gor o - U=(A- 550)/5(
=(log o+log 0)/2 log ¢=-0,35u)-u ]
log go=log . +0,08 log  o=-0,35[u\-u ]?
l0g[3go 3% olilii Wl ] Adaptation: A =

maximum o o maximum
§ log(" . .m)=-008 Jlog(" . m)=-0,08
m=0,81 m=0,81 go
Schwelle Schwelle o o

17T t,=0,00, $=0,00 Ti==0.00; 5=0,00

N VA il 3 u,

+
400 500 700 A/nm
R:595, 620, 645 EG370-7N S$:595, 620, 645 EG370-8N

\




